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Note :

PAPER-I

RV |

This paper contains Sixty (60) multiple-choice questions of two marks each.

You are required to answer any fifty (50) questions out of them. If you attempt
more than 50 questions, the first 50 questions you have attempted will be
evaluated. There is no negative marking for wrong answers.

L wsAUANL 5O (RUSs) otgasedl usdl 20l &, UAS Ut A il . el
a2 4o (uA) Usdidl G2l 2udldl §. 43g B dil YO Sl sl usHi-l
Bl 2L ol dHidl USdl YO UsAl % dMIAAHE BUadl. wiel et ¥ WdiRa

delis uaL YL,

Which of the following is least
desirable outcome of teaching in
higher education ?

(A) Enhancement of independent
thinking of students

(B) Increase in students probing
skills

(C) Good preparation for appearing
in examination

(D) Helping students to think out
of the box

Here some qualities of the teachers
are presented. Which one of the
following combination of qualities
is most suitable in an effective
teacher ?

(1) Knowledge of subject matter
(2) Effective oral communication
(3) Pleasant presence

(4) To be object of respect of the
students

(5) To be object of respect of the
leaders of the society

(A 1,2, 4
B) 1, 2,3
©) 2,3, 4
1y L, 2.9
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Ay 1, 2, 4
B) 1, 2, 3
C) 2, 3, 4
D) 1, 2,5
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Which of the following techniques
of teaching is more suitable for

developing creativity in students ?
(A) Lecture

(B) Demonstration

(C) Field study

(D) Providing self-learning

material
Assessment that take place during
process of teaching in classroom
is :
(A) Classroom assessment
(B) Formative assessment
(C) Summative assessment

(D) Comprehensive assessment

Which of the following helps learner

to learn better ?

(A) Giving notes

(B) Discussion in the class

(C) Explaihing the main points

(D) Knowledge of the teacher
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In constructivist approach, learner

1s viewed as :

(A) responding being

(B) evolving being

(C) emotional being

(D) exploring being

When each unit of a population has
an equal likelihood of being
selected, the method of sampling is
called :

(A) A non-random sampling

(B)I A quota sampling

(C) A snowball sampling

- (D) A random sampling

A researcher wants to study the
future of an Institution. For the
study which tool is most appropriate

for him/her ?

(A) Questionnaire
~ (B) Observation
(C) Interview

(D) Rating Scale

Paper-1—A

RLeel vilopul Qe L a?l%

Sl i .

(A) alaarRicHs @lzq
(B) [(aswuslla ul3d
(C) Rdedglla ul3d
(D) =dvRlHSs A[3d

U3 AUU[Qegel oig) sH) 1 d
ML ld At YRiedll s2al W2 auidl

il wiedllel uglad ... ERECTUS
(A) a»tvt—lusﬁwss el uR{ed(l

(B)I sdlet -ﬁ;ﬁ y2ied(]

(C) 2ellolld ¥l il

(D) Awgle9s Ayl uiedll

Aellas s qald efavy aear w2
ALY 539L HIOL 8. 2L AR HI2 54

Bus@L d-dl He Al 4oy § ?
(A) uadlad]

(B) Addis

(C) Heustd

(D) $HHIUES

[P.T.O.]




9. Hypothesis cannot be stated in :
(A) Null and question form
(B) Declarative terms
(C) General terms
(D) Directional form

10. A text taken from a source is placed
in a research report without

providing reference is called as :
(A) Plagiarism

(B) Popularism

(C) Perfectionism

(D) Post-referencism

11. What is the correct sequence of

steps in research ?

(A) Sampling; identification of
problem; development of tools;

data analysis; data collection

(B) Identification of problem;
development of tools; sampling;

data collection; data analysis

(C) Development of tools;
identification of problem; data
data

analysis; sampling;

collection

(D) Identification of problem;
sampling; development of tools;

data collection; data analysis
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12. Practitioners such as teachers,

counsellors and other professionals
attempt to find solutions to some
issues in a systematic manner. This

is known as :

(A) Action Research

(B) Basic Research

(C) Applied Research

(D) Developmental Research

Read the paragraph and answer the
question Nos. 13-18 :

Adolescence is a period of rapid
growth and development bridging
childhood and adulthood. Practicing
healthy eating behaviour is one of
the most important factors to meet
the nutritional needs of adolescents.
Proper eating behaviours that are
learned in early life are maintained
in adulthood thus reducing the risk
of major chronic diseases. Physical

and psychological changes occurring

during this period wusually

significantly influence their dietary
behaviours. As teens become more

independent, they make more of
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Read the paragraph and answer the
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their own food choices. However,
being influenced by a massive
amount of factors (biological, social,
physical, economic, psychological
beliefs and knowledge about food)
and changing of lifestyle may affect
their dietary choices and eating
behaviour, thus making them fail
to adhere to healthy eating
practices. Peer pressure in colleges
leads adolescents to eating non-
nutritional foods like pizzas and
burgers. Due to irregular college
schedules, intake of caffeinated
drinks increases and water intake
reduces. Poor nutrition can lead to
reduced concentration in studies,
low stamina, depression or poor

posture.

13. Adolescents succumb to unhealthy

dietary habits due to :

(A) Physical and psychological

changes

(B) Independence in making food

choices
(C) Changing lifestyle

(D) Peer pressure in colleges
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14.

15.

16:

Unhealthy dietary habits means :
(A) Eating pizzas and burgers
(B) Caffeinated drinks

(C) Poor nutritional diet

(D) Drinking less water

Reduced concentration in studies is

because of :
(A) Nature of Adolescent period

(B) Not being able to meet

nutritional needs

(C) Influence of factors like

biological and psychological

(D) Eating of foods like pizzas and

burgers

The author marks adolescent as
bridging childhood and adulthood

because it is a :

(A) Period of. independence 1in

- making dietary choices

(B) Period of physical and

psychological changes

(C) Period of changing lifestyle

(D) Period of peer pressure
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17. What is the meaning of dietary

behaviour ?
(A) Taking different types of diets
(B) Taking caffeinated drinks

(C) Knowledge of different types of

diets
(D) Making choices about diet

18. As per the author, how does dietary
behaviour in adolescence affect

health in adulthood ?

(A) Major chronic diseases are
transferred from early stages

to adulthood

(B) The seed of ill health in
adulthood is sown by diet in

+ early stages

(C) Dietary habits of adolescence

are carried out in adulthood

(D) Dietary habits are maintained

throughout life
Paper-I—A '
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19. Which one of the following functions
a sender would perform during

communication ?
(A) Decoding

‘ (B) Feedback
(C) Encoding
(D) Reception

20. Given the following components of
communication, which combination
represents classroom communication

best ?
(i) Individual to Individual
(1) Individual tol Group
(ii1) Group to Individual
(iv) Group to Group
(A) (@) and (it)
(B) (iz) and (iv)
(C) (), (i) and (i)

(D) (i) and Gv)
Paper-I—A
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21. In order to protect sensitive matter 21. S-S gl A Aea Hisadl auwa
sent through e-mail, the sender

i s Asil ?
should : '

(A) write the matter in another (A) Azl A SIS Gl avidl
language % . -
Fee (B) Widid Uy Hisad Al
(B) not provide self-address
(C) izl Aidlas w3l Hisadl
(C) encrypt the matter
(D) not inform any one about this (D) e dzau-dl oeL st sl (8
matter = g & - % S
22. A ASAAL HAYR L usUl 2 2z
22. A manager of an organisation

= ~ by

_ HisA 9. L 541 USR] U € 7
transfers a message to his/her

subordinates. Which type of (A) [asel

communication is this ?

(B) eioudl
(A) Diagonal

(B) Downward - (C) uulalasy
(C) Horizontal ‘ D) Gledopal
(D) Upward '

23, SUL UL UMM HisdAlR 4312+l

23. In what type of communication, ' . 2 oo i
- _ SUHAA glRL e Hisd © ?
sender transfers message using

body movements ? : (A) lées

A) Verbal \
e eewiae (B) albid

(B) Written

(C) 2ilas
(C) Gestural

3

(D) Silence (D) ™
Paper—I—A 12




24.

25.

26.

the

communication in a sequential

Arrange

order :

(A) Sender, receiver, message,
feedback

(B) Sender, message, feedback,
receiver

(C) Sender, feedback, message,
receiver

(D) Sender, message, receiver,

feedback

Fow7sedl, 4% 8=
5ix: b = b2, then 3 x 6 =

(A) 39

(B) 81

(C) 121

(D) 208

Arrange in a meaningful sequence :
(1)
(2)
(3)
(4)

Status

Service

Income

Settlement

Study
552—-53->51->4
5245321
(C) 4
(D)

>3 =22 -21-5

351 -2 245

Paper-I—A
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24. UAMAAL dedid SABLS sHHL sl ¢

25.

26.

(A) Hisdnlz, HAd-Iz, Az, wauine

(B) Misatz, dee, Mauimer, 3aa-i:

(C) Hisarlz, wAuise, A2, Aua-iz

(D) Hisadiz, Az, qAna-diz, wlavine

o 2 x 7 = 41, 4 x 3 = 21,
5x5 =52 d 3 x6 =

(A) 39

(B) 81
(C) 121
(D) 208

wlue doeld 2dysl 2sll o4 d d
digdl : |
(1) el
(2) ls?l
(3) 2lds
(4) &3la ug
(5) HeulRA
(A) 552> 3
B) 5—>4—3
(C) 4 -3 — 2

D) 3->1-—- 2




27. Put the correct number in the

box : | |
0.2 6 12 [ ] 30
A) 18
(B) 20
(©) 28
D 14

28. If NOT is encoded as 415102, then

SRP will have the code :
(A) 918161

(B) 191816

(C) 1986

(D) 689

29. If 2 x 6

7, 4 2

X

7x3 =144, then 5 x 8 = .............
(A) 140
(B) 142
(C) 143

(D) 144

Paper-I—A
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27. el olladi dlou Aval y4l el yel
53
0,2 6 12,1 30
(A) 18
(B) 20
(C) 28

(D) 14

28. % NOT < uislas 3uni 415102 «l

caldlad ol SRP +i di3lds 3u g 29 ?
(A) 918161

(B) 191816

(®) 1936

(D) 689

29. A 2 x 6

7, 4 2

X

7x3 =144, QUA 5 x 8 = 1oovvvoo
(A) 140
(B) 142
(C) 143

(D) 144




30. Complete the sequence by filling the
blank using correct number :
0,2, 12, ., . 80
(A) 66
(B) 52
(C) 48
(D) 36

“i)”

31. Put the correct number at and

complete the sequence :
A(4), F(9), M(?), Q(20)
(A) 12

(B) 14

(C) 16

(D) 17

32. Complete the sequence by putting

the correct letter :

( D ) r 11
Paper—I—A
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31.

32.

el s3]

(A) 66

(B) 52

- (C) 48

(D) 36
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530

A(4), F(9), M(?7), Q(20)
(A) 12

(B) 14

(C) 16

(D) 17
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© Q
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33.

There are total 400 candidates
applying for admission to one of the
courses C1, C2, C3, C4 and C5, for
study. The given table shows %
number of all 400 candidates

admitted to these courses :

% Number of

Course
candidates admitted
C1 15
C2 10
C3 25
C4 30
C5 20

Based on this table, answer the

following questions (33-35) :

The sequence in increasing order of
number of candidates in these

courses, 1S :
(A) 30, 65, 85, 90, 130

(B) 35, 60, 80, 105, 120

(C) 40, 60, 80, 100, 120

(D) 50, 60, 70, 90, 130

Paper-I—A

33.

Ao il C1, C2, C3, C4, C5 widl
S8 L5 ACUIASHHL UCUIRA 5241 Ui §¢
400 Gzl 22w 53 8. 1A e

=,

S1vesUl duld 400 GHeAliA % d

ey AsHHL HAY AsHa, % i salad

0.
VEAIASY [Qendl wda-u
251
C1 o A5
C2 10
C3 25
C4 | 30
CbhH 20

L 25 UL AL WAl walel

UL (38-35) :

B d AEUIUSHHL slwd 4Ad GRealiHl

Azdl sHAl Avaiel sl g wd ?
(A) 30, 65, 85, 90, 130

(B) 35, 60, 80, 105, 120

" (C) 40, 60, 80, 100, 120

(D) 50, 60, 70, 90, 130




34. The ratio of number of candidates 34, ueusH C3 Hi elmd 93¢ GReall

in course C3 to the number of vl 2 BewASH C5 Hi ervie gl

candidates in course C5 is : aw ; o
Gueaidl Avil el -

(A) 3:2

(A) 3:2
(B) 5:4

By 5:4
C) 6:4

(C) 6:4
(D) 6:5

D) 6 :5

35, The sequence of admitted number

35. weqAsH C1 4l C5 Al 4 M8, elvd
of candidates, in order of courses C1

ydd GHealzi-l dvar-l 2l :

to C5, is :

A) - 60, 40, 100, 120, 80
(A) 60, 40, 100, 120, 80 (A) 60, 40, 100, 120,

(B) 50, 80, 100, 120, 50 (B) 50, 80, 100, 120, 50
(C) 100, 50, 30, 130, 90 (C) 100, 50, 30, 130, 90
(D) 90, 50, 30, 130, 100 | (D) 90, 50, 30, 130, 100
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No. of Employees

The following graphs record the
number of employees joined and left
a company in the month of April,
from the period 2005 to 2009. The
initial number of employees in the

company is 1000.

30071

o bo
o w
o o
oy

et
o
o)
I~

A
PPN

1007

501

2005 2006 2007 2008 2009

A : Left the company
@ : Joined the company

Based on this graph, answer the
following questions (36-38) :
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36.

37.

38.

Paper-I—A

The ratio of total number of
employees in 2005 to the total

number of employees in 2006 is :

.(A) 11: 10
{B1 20 = 17
3 21z 19
D) 13 : 11

How many employees were serving

the company in 2005 ?
(A) 1050
(B) 1200
(C) 1150
(D) 900

In which year, the number of

employees was maximum ?
(A) 2005
(B) 2007
(C) 2008

(D) 2009

36.

317.

38.

af 2005 24 arl 2006 Ui Su-l-i g4

sl vl etiar

(A) 11 : 10
(B) 20 : 17
() 213 19
(D) 13 : 11

arl 2005 i Su-dlai g stnli-l v

sedl wdl ?
(A) 1050
(B) .1200
(C) 1150
(D) 900
s a3 sl Aval Henn edl ?
(A) 2005
(B) 2007

(C) 2008

(D) 2009




39. Which of the following diagrams g9 34 miol] 56 SR §4-M, Wis-S, Al

indicates all possible relations . .
_ T v sI181-F q2Al wsd d¥iy deial
amongst milk-M, Sugar-S, Tea-T

~ and Coffee-F ? cald B 7

(A)

(B)
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40.

41.

(i) Rohit possesses four two-
wheelers '

(ii) Two two-wheelers are black
(i)
From the above statements which
conclusion can be drawn ?

(I) Rohit has black bicycle

(IT) Rohit has three scooters
(I11) Rohit does not like black color.
(A) T and II

(B) III only

(C) 1II only

(D) None of I, II, III is true

One two-wheeler is a bicycle

Select the correct number at “?”
place :

15 12
14 14
11 |14
15 || ?
13 .12
12 15
(A) 13
(B) 15
(C) 17
(D) 19
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40.

41.

() AURA WA w2 Gusl ae-dl &

Gi) O [Rasl aledl swu oL ©

(i)

A5 [Gusl aled Asa ©

2L 248 e5lsdi Bl g g dirdl

Asly 7

(M ARd wA sou ol wase ©

(ID AR WA AR 222 O

(ITD) AARAA 5100 3oL uaie el

(A) T 24 11
(B) $5d III
(C) ssd II

(D) I, II, TII +iell 2Asus <l

wad el e 5O Aval g8 ?
15 12

14 14
11 14
15 || 2

13 12
12 15

(A) 13

(B) 15

) 17

(D) 19
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42. If UPE = SNC, then QHD = ............ 42.

(A) NKH
(B) PGE
(C) OFB
(D) MKF

43. An attached file with received 43.

e-mail is dangerous for :
(A) it may carry virus

(B) computer hard disk gets over-
loaded

(C) it costs money to the recepient

(D) there is no guarantee of

reaching to recepient

44. In the domain name .org implies : 44.

(A) a website
(B) operations research group
(C) commercial website

(D) an organization

45. URL means :

(A) Uniform Resource Locator 45.

(B) Unique Resource Location

(C) Universal Recommended

Location

(D) - United Resource for Learners
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% UPE = SNC, 94l QHD = ............

(A)
(B)
(&)
(D)

NKH
PGE
OFB
MKF

uitd gdy S-H9d Al ASA 519¢
Auusls eldld s1Re ¢

(A)
(B)

(C)
D)
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Ul 5196l e1S[Bxs 2 agii-l
ol 2]l Ay

W 5413 ARl ysanll s ud

2l $16¢ ellgd AN ygiAal]

1S well eldl el

SIS AL duiadl 2Uddl 40 org g

Jad © 7

(A)

(B)
(C)
D)

s qoyde
Al Rad yu
siRlue douse

g AP

Y B Bd. 22d

(A)
(B)
(®)
(D)

ylRsid R dizer
YlHs (R aidant
y[ada [Rsu-ss dizaq
y-es AL sz ady




46.

47.

48.

49.

In a democratic institution most of 46.

. the communication 1s :

(A) Vertical
(B) Horizontal
(C) Spiral

(D) Unidimensional

Which is odd one ? 47,

(A) Microsoft Word
(B) Microsoft. Excel
(C) Microsoft Access
(D) Microsoft Windows

Which one is the largest memory

size ? 48,

(A) Kilobyte
(B) Gigabyte
(C) Terabyte
(D) Megabyte

In most of. the Indian big cities,

the dominant source of air pollution 49.

is :

(A) vehicular traffic

(B) household smoke

(C) thermal power plant

(D) suburban trains
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Aol

(B) uulélay
(©) ulla
(D) oglay

AAnial sy oflog otal i vigdaug,
¢l ?

(A) wSsinise as
(B) *HSsilge Asud
(C) Wdsidlse isAA
(D)

QA-nnigdl 59 Ay dlell Wl
7

Wssiaise [A-sin

(A) Kilobyte
(B) Gigabyte
(C) Terabyte
(D) Megabyte

GllRdrll Hiel ASUHL sl UedBLrl Yo
wld sl © 7

(A) el 2uEs

(B) -l 9ISt
() udd war e

wdad ] [Qadizdl Jedouslail

[P.T.0.]

D)




0.

51.

52.

Which of the following is not

- biodegradable ?

(A) Vegetables
(B) .Human bones
(C) Earthworms
(D) Iron rust

Which of the following is least
likely to be an effect of Global

Warming ?
(A) Loss of fertile delta regions for
agriculture
(B) Change in global patterns for
. precipitation
(C) Decreased rate of

photosynthesis in vegetation

(D) Increased frequ'éncy_ of

hurricanes

Which of the following is used in

pencils ?

(A) Graphite
(B) Silicon
(C) Charcoal

(D) Phosphorous
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50.

o1.

52.

(B)

vﬂiﬂtnieﬂ g %[Qs Queday A4l ?
(A) m&w@

(B) uAa iRy

(C) i

(D) divisHl sie

RAmiell 53 oddiore o) 2iiedl 214
421d 5 ?

(A) vildeys G Bustel a2l duiaal
ABas dIsHi a8y 12 YRadH

(C) aiRv[QxMl UsIUAANRAL £34]

421st
(D) alaASIHL qaLRl
AA-Aiell g WA quy © ?
(A) Aside
(B) Allsix
(C) _dagslafl slal (AR i)

D) s




53.

54.

55.

The major cause of Tsunamis in the 53,

sea 1s :

(A) Winds

(B) Earthquakes
(C) Volcanoes

(D) Climate change

Sardar Sarovar Project is situated  54.

on the river :
(A) Krishna
(B) Godavari
(C) Narmada
(D) Yamuna

What is the basic concern of

Rashtriya Uchchatar Shiksha 55,

Abhiyan ?

(A) To get over low enrolment in

higher education

(B) To improve achievement level

of students in university exams

(C) To improve the facilities for

girls in colleges and
universities

(D) To provide NET qualified

teachers to universities and

colleges
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56.

57.

58.

Rashtriya Uchchatar Shiksha
Abhiyan (RUSA) is to fund the
states for higher education. What is
the ratio of funds between Central
and State governments ?

(A) - 75% Centre 25%
Governments

65% Centre
Governments

100% Centre

78% Centre
Governments

What does PPP stand for in higher
education policy perspective ?

(A)

State

(B) 35% State

(C)

D) 22% State

Policy Perspective Plan

(B) People’s Planning  for
Participation
(C) Public Private Partnership

(D)

What has been the purpose of
introducing NET as Dbasic
qualification for recruitment of
teachers in higher education ?

Privatisation Policy Pattern

56.

57.

58.

(A) Ensure that curriculum is-

centralized in all the Indian
Universities

(B) Ensuring that teaching takes
place in the classes in higher

education

(&)

Ensure that teachers’
knowledge improves

(D) Ensure merit in recruitment of

teachers in higher education
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(B) .People’s '

AU GAadR (e slHad (RUSA)
AU GRREL 12 ¢Sl YR uIsdl.
Svg A AUBUARSIAL AR ¢{sia]
Rl g s ?

(A) 75% %vu: : 25% UBL AR
(B) 65% 5v : 35% 1%4 USIR
(C) 100% %+

D) 78% 3+ : 22% UXYU AR
G2 (e lla- glesiadi PPP »ied
i ?

(A) Policy Perspective Plan

. Planning for

Participation
(C) Public Private Partnership
(D) Privatisation Policy Pattern
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dldsid 3 NET elvid st &g
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(C) [asi 2t 3ad d g

G [BeeHi [BetsiHl ezl
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09.

60.

Why does Gross Enrolment Ratio
(GER) sometimes go beyond 100 in

higher education ?

(A) Due to number of repeaters and
number of younger and older

age group students

(B) Due to larger enrolment in

distance education courses

(C) Due to continuous increase in
population of particular age

group students

(D) Due to government policies of

access in higher education

Which of the following is a
challenge for governance in higher

education ?

(A) Getting NET qualified

teachers

(B) Getting students for different

courses

(C) Preparing syllabi for different

courses

(D) Meeting funding requirements
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